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Let x-3y+4=0 and 2x-7y+8=0 be
two lines of regression computed from
some bivariate data. If by, and b,
are regression coefficients of lines of
regression of y on x and x on y
respectively, then what is the value of
Dyy + Thyx?

(@ -2 7"'3(71“#:0
(b) 1
/
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(d) 5
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Let x-3y+4=0 and 2x-7y+8=0 be
two lines of regression computed from
some bivariate data. If by, and b,
are regression coefficients of lines of
regression of y on x and x on y
respectively, then what is the value of
Dyy + Thyx?

(@) -2
(b) 1
(c) 2

(@ 5

Ans: (d)



NDA 1 2025 LIVE CLASS - MATHS - PART 4

The mean of n observations
2
]1- 4: g:- lﬁa ey M

15 130. What is the value of n?
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B 19 - B = R (O 19737
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b
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26 x 30
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The mean of n observations
L 4, 9 16, -, n?
is 130. What is the value of n?
faj 18
fb) 19
fe] 20

@ 21

Ans: (b)
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What is the mean deviation of the first
10 natural numbers?

() 2 Hmn=l+zf-3+#r‘5+6f?+3+7f- lo

(b) 25 [0
c) 3 [+3+3+ ---D = ”(hﬂ)’
(d) 35 - foexly - 55 . 5% z
°? ’0 - A ’ -—
o — Hean deriabim - é/(x;-z)/‘
Z
)
Mewy =4S+ 353354 [T 0.5 054 [SF 2T A5 S
deviohigy = I
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What is the mean deviation of the first
10 natural numbers?

(a) 2
(b) 25
() 3
(d) 35

Ans: (b)
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9 .

Let Ex? =855 If M is the mean and
i=1

g is the standard deviation of

Xy, Xg, "+, Xg, then what is the value of

M2 4+02?

(a) 100

(b) 95

(¢ 90

(d) 85 G,z_‘ P55 N




NDA 1 2025 LIVE CLASS - MATHS - PART 4

9 .
Let Ex? =855 If M is the mean and
i=1

o is the standard deviation of
Xy, Xg, ', Xg, then what is the value of
M2 +g2?

(a) 100
(b) 95
(c) 90
(d) 85

Ans: (b)
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The mean of the series x;, x5, -+, X, is X.

If x,, is replaced by k, then what is
the new mean?

(a)] Xx-x, +k

L+ + .. 1

- U
nx-x+k —_ U

O )

fc) -

(d) \

-1

Mew mean = (X,flzf-ﬁ In)

~ X

]

t k

"

Nowd mean =

n

—

nt - A, +K
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The mean of the series x;, x5, -+, X, is X.

If x,, is replaced by k, then what is
the new mean?

(a) x-x, +k

(b) nx-x+k

(c)

(d)

Ans: (d)
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Q)It is given that X=10,Y=90,0y =3,0y =12 and

ryy = 0.8. The regression equation of X on Y 1s

(@ Y=32X+58 (b) X=32Y+58
X=-8+02Y d Y=-8+02X —_ -
(©) + (d) + Pafﬁ?f fofnf - (Z, d}
1— X = EL(J—Y S'/o/oe:yf:zl_
G'J c
i
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Q)It is given that X=10,Y=90,0y =3,0y =12 and

ryy = 0.8. The regression equation of X on Y 1s

@ Y=32X+58 (b) X=32Y+58
©) X=-8+02Y (d) Y=-8+02X

Ans: (c)
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Q) Consider the following statements:
1. Ifthe correlation coefficient r, = 0, then the two lines
of regression are parallel to each other.
2. If the correlation coefficient r,, = + 1, then the two

lines of regression are perpendicular to each other.
Which of the above statements 1s/are correct?

(@) 1only (b) 2only
(¢) Bothland2 (d) Neither 1 nor2

26 TV:O "-? '/ano = 0 3 [I.Dd are
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Q) Consider the following statements:
1. Ifthe correlation coefficient r, = 0, then the two lines
of regression are parallel to each other.
2. If the correlation coefficient r,, = + 1, then the two

lines of regression are perpendicular to each other.
Which of the above statements 1s/are correct?

(@) 1only (b) 2only
(¢) Bothland2 (d) Neither 1 nor2

Ans: (d)
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Q) If 4x — 5y + 33 = 0 and 20x — 9y = 107 are two lines of
regression, then what are the values of X and ¥y

respectively?
(@) 12and 18 (b) 18and 12
(c) 13and17 (d) 17and 13

(ilé) ;f The /)MS/'WJ )bo/'m‘ for Lofh [/’n({,

Sy, infersechop /aofnf ”f the TR0 Lnu wil( dr"ve volu 4 o/ 7 ond
40 -y - - 33 — x5 20 =S¥ = —- 16y _
( [ _ =7 =P
DL -4y - [p7 | fo1-qy = oy | (LT
(7 ) ) ()

-"IGJ :’2?2
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Q) If 4x — 5y + 33 = 0 and 20x — 9y = 107 are two lines of
regression, then what are the values of X and ¥y

respectively?
(@) 12and 18 (b) 18and 12
(c) 13and17 (d) 17and 13

Ans: (c)
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EXAMS

Q) The median of a set of 9 distinct observations 1s 20.5. If

each ofthe largest 4 observations of the set 1s increased by
2, then the median of the new set

(a) remains the same as that of the original set
(b) 1sincreased by 2

(¢) 1s decreased by 2

(d) 1stwo times the original median.

v n () 2; T}ng 1;
i‘id’ 7(9(” oL.cermhong
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@i=]

EXAMS

Q) The median of a set of 9 distinct observations 1s 20.5. If
each ofthe largest 4 observations of the set 1s increased by
2, then the median of the new set

(@) remains the same as that of the original set
(b) 1sincreased by 2

(¢) 1s decreased by 2

(d) 1stwo times the original median.

Ans: (a)
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Q) Consider the following statements :
(A) Mode can be computed from histogram v
(B) Median 1s not independent of change of scaleﬂ mu (h'olin d wc&

(C) Variance 1s independent of change of origin and scale.

Nt 0
Which of these 1s / are correct ? | 0bservalt on
@@ (A),(B)and(C) , (b) only(B)
(¢) only(A)and (B) (d) only(A)
_ v

nof I'nde/bwc{cn/‘ Of charﬁ; 97[ Slc_a/e/'
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Q) Consider the following statements :

(A) Mode can be computed from histogram

(B) Median 1s not independent of change of scale

(C) Variance 1s independent of change of origin and scale.

Which of these 1s / are correct ?

(@ (A),(B)and(C) (b) only(B)

(¢) only(A)and (B) (d) only(A)

Ans: (c)



NDA 1 2025 LIVE CLASS - MATHS - PART 4
(@]

Q)In a series of 2 n observations, half of them equal a and
remaining half equal —a. If the standard deviation of the

observations 1s 2, then |a| equals. [ _\2
5 LSo.-. Jé(‘l"’l
2
@ - ® 2 ?

| 2 (o-a "-f,,_. + &-r,,-
5 2 @ ) ; \—( b+a) #’)
qn D Pines
Q@ _ & -a ---- —a _ _ —
z'n('a

Men - 0 = \.9,.:
2n

1)

N Hmed
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(@]

EXAMS

Q)In a series of 2 n observations, half of them equal a and
remaining half equal —a. If the standard deviation of the
observations 1s 2, then |a| equals.

(a) V2 ®) 2

n

|
(© 2 d -

n

Ans: (c)
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Q) The arithmetic mean of 1, 8, 27, 64,..... up ton terms 1s given

by
(a) 11(112+ 1) ®) 11(11;1)2
2 2 Z
© n(n :1) @ n (114+ 1)
/i 2°, 33/ —— »

s 71‘(7)1‘1)2_

n :

.

-(N [T)H)i

1
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Q) The arithmeticmean of 1, 8, 27, 64,..... up ton terms 1s given

by
| 2
(a) 11(112+ 1) ®) n(n ; 1)
n(n + 1)2 n’ (n+ 1)2
(©) 1 (d) q

Ans: (c)

EXAMS
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Q) The mean of the numbersa, b, 8, 5, 10 1s 6 and the variance
1s 6.80. Then which one of the following gives possible
values ofa and b ?

@ a=0,6=7 b) a=5,6=2
(0 a=1, b=6 (d) a=3,b=4
2 2
atbtsrstn - g cogr = (c-a)'t (c-)"+ (6974 (6-9)'+ B-m"
4 5

@ 34.00 :;?g_fa’-fla-!' E_QH,"-I?—M"IHHG

3 =93+ 6" -2 +4*-13}

0°—12a + 4+-12b = - 51
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0 —12a + 45 12b = ~ 69

(a) 0, ? (yg = 0 -0 + 11 -6 = -45

E———

. A5 - - 98
(b) 5,2  LHS = - 60 7

= =38 - by o
- -89 o
() 1, 6

[ =12+ 3632 = —J) =36 = -4¢

g) > ?’36+16-‘/8‘=-—.?7'-32:
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Q) The mean of the numbersa, b, 8, 5, 10 1s 6 and the variance
1s 6.80. Then which one of the following gives possible
values ofa and b ?

(@) a=0,b=7 (b) a=5,56=2
(c) a=1, b=6 (d a=3,b=4

Ans: (d)
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EXAMS

Q) In a study on the relationship between investment (X) and

profit (¥), the following two regression equations were
obtained based on the data on X and ¥

3X+Y-12=0

X+2Y-14=0

What 1s the mean X ?

(@ 6 b)) 5
c) 4 d 2

()
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EXAMS

Q) In a study on the relationship between investment (X) and

profit (¥), the following two regression equations were
obtained based on the data on X and ¥

3X+Y-12=0

X+2Y-14=0

What 1s the mean X ?

(@ 6 b)) 5
c) 4 d 2

Ans: (d)
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Q)If the mean deviation of the numbers 1,1 +d, 1 + 24, ...
1 + 1004 from their mean 1s 255, then d 1sequal to:

@ 200  (b) 10.1 ©) 202 d 100

[, 1+d, 1+3d+ . [+ ]

Mean - 1+ (1+d) + (HZﬂ/) t o (H‘IDOCU#
[0/

- (I+I¢-,. lo/ fimes) + d (I+4f3,.-lf_‘i) . o] "'f' Q”’) ("’/)4
A 2

e —

1D lo)
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fo] m[((loo)(loll) . (o]
K

el
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I
M = 50d +49d+yed .0+ dr2drid 0]
deviatiny - o/
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Q)If the mean deviation of the numbers 1,1 +d, 1 + 2d, ...
1 + 100d from their mean 1s 255, then d 1s equal to:

@ 200  (b) 10.1 © 202 d 100

Ans: (b)
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EXAMS

Q) Consider the following statements in respect of histogram :

1. The histogram 1s a suitable representation of a

ﬁ'equency.distribution of a continuous .Variabls.‘/ﬂ clags ;nfcrv ale
2. The area included under the whole histogram 1s the
}‘l To fﬂ/ fnz mu)r7l

total frequency. \-.
Which of the above statements 1s/are correct? Avea
(@) 1only (b) 2only
(¢c) Bothland2 (d) Neither 1 nor2 \/
o’fmf@r refafa{/
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EXAMS

Q) Consider the following statements in respect of histogram :

1. The histogram 1s a suitable representation of a
frequency distribution of a continuous variable.

2. The area included under the whole histogram 1s the
total frequency.

Which of the above statements 1s/are correct?

(@) 1only (b) 2only
(¢c) Bothland2 (d) Neither 1 nor 2

Ans: (a)
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Q) The mean of the data set comprising of 16 observations 1s
16. If one of the observation valued 16 1s deleted and three
new observations valued 3, 4 and 5 are added to the data,
then the mean of the resultant data, 1s:

(@) 158 (b)y 14.0 (c) 168 (d) 160

(l6x16) — 5 $34445 . A6 =K #I2
3

/8

\)
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Q) The mean of the data set comprising of 16 observations 1s
16. If one of the observation valued 16 1s deleted and three
new observations valued 3, 4 and 5 are added to the data,
then the mean of the resultant data, 1s:

(@) 158 (b)y 14.0 (c) 168 (d) 160

Ans: (b)
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Q) Ifthe standard deviation of the numbers 2, 3,aand 11 1s 3.5,
then which of the following 1s true?

(@) 3a®?-34a+91=0 (b) 3a?-23a+44=0
(c) 3a*2—-26a+55=0 (d) 3a*2—32a+84=0
Mean = 4+3+a+)) = (614 - A+4
. B i
(%) 4 4 -

1B

— .t s/
Standord  oleviahm = \/__é (v'-z)" fég- - (T)
?

L

—

tl

Pr3tratnt - (k' )"
Vi
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P13t at it - (i')" - (3-9)

4

2

b (39" B+ 9.5

o>+ /34 _(‘/"-f’-) = (3+5) 05
f I +005 +3

/42

-ﬂi ¥ 33.9 — /6"__@9'_ —da = (425 1425
! . 33-50
322 _ Q4 = (6 1+ /1225 = 33-% _4&*'25‘
—/;- 525

302 -82a = —$.25 5 Ja*-32a 1 ¥f=0

/6 (36"— 324 + 8’1 :0)
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(@]

EXAMS

Q)Ifthe standard deviation ofthe numbers 2, 3,aand 1115 3.5,
then which of the following 1s true?

(a) 3a*-34a+91=0 (b) 3a2-23a+44=0
(¢) 3aZ-26a+55=0 (d) 3a2-32a+84=0

Ans: (d)
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EEEEE

Q) The regression lines will be perpendicular to each other if
the coefficient of correlation 7 1s equal to

(@) 1only (b) lor-1
(c) —1only (d O

120 3 Mpres tins  ave  perfendisler,

(fana = /-7
)
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(@]

EXAMS

Q) The regression lines will be perpendicular to each other 1f
the coefficient of correlation 7 1s equal to

(@) 1only (b) lor-1
(¢) —1only d 0

Ans: (d)
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